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NEW QUESTION 1
Which IPv6 address type provides communication between subnets and cannot route on the Internet?

A. global unicast
B. unigue local
C. link-local

D. multicast

Answer: B

NEW QUESTION 2

Which two capacities of Cisco DNA Center make it more extensible? (Choose two)

A. adapters that support all families of Cisco 10S software

B. SDKs that support interaction with third-party network equipment

C. customized versions for small, medium, and large enterprises

D. REST APIs that allow for external applications to interact natively with Cisco DNA Center

E. modular design that is upgradable as needed

Answer: BD

NEW QUESTION 3
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NEW QUESTION 4

Which type of wireless encryption is used for WPAZ2 in preshared key mode?

A. TKIP with RC4

B. RC4

C. AES-128
D. AES-256

Answer: D

NEW QUESTION 5
Refer to the exhibit.

nternet

.
== 10.10.11.0/30

--- H—-. 2 --I 1- --I:I |"-I|'
e S 40, kot Router1

Routeri#show ip route
Gateway of last resorl is 10.10.11.2 to network 0.0.0.0

B

{ws]

oo oooOO OO0

.. p 1 —_—
>%L 10 10 10.0/28 —ﬁ— :
my A ]

Switch1 Host -EL
10.10 1

209165 200 0727 1s subnetted, 1 subnets
200 165 200224 [2000] va 101012 2, 03-22:14

209 165 201 0/27 s subnetted. 1 subnets
209.165.201.0 [20/0] via 10.10.12.2, 02.26:33

209.165.202.0/27 is subnetted. 1 subnets
2-'-9 165.202 128 [20/0] via 10.10.12 2, 02:26:03

100 E 8 15 vanably subnefted_ 8 subnets, 4 masks
*f 0.10 0/28 s directly connected, GigabitEthemet(v0
10.10.11.0/30 is directly connected, FastEthernet2/0
10.10.12.0/30 is directly connected, GigabitEthernet0/1
10.10.13.0725 [110/2] via 10.10.10.1, 00:00:04, GigabitEthemet0/(
10 1013 128728 [110/2] wia 10 10 10 1, 00-00-04, GigabiEthemet(/0

10 10.13.144/28 [110/2] via 10 10.10 1, 00:00:04
10.10.13.160/29 [110/2] wia 10.10.10.1, 00.00.04

01013208729 [110/2] via 10.10.10.1, 00:00:04,
* 0.0.00/0[1/0]via 10.10.11.2

GigabitEthemet(/D
GigabilEthemeat/0
GigabitEthemet0/0

Which prefix does Router 1 use for traffic to Host A?

A.10.10.10.0/28
B. 10.10.13.0/25
C.10.10.13.144/28
D. 10.10.13.208/29

Answer: C

NEW QUESTION 6

A frame that enters a switch fails the Frame Check Sequence. Which two interface counters are incremented? (Choose two)

A. runts
B. giants
C. frame
D.CRC

E. input errors

Answer: DE

NEW QUESTION 7
How do TCP and UDP differ in the way that they establish a connection between two endpoints?

A. TCP uses synchronization packets, and UDP uses acknowledgment packets.
B. UDP uses SYN, SYN ACK and FIN bits in the frame header while TCP uses SYN, SYN ACK and ACK bits
C. UDP provides reliable message transfer and TCP is a connectionless protocol

D. TCP uses the three-way handshake and UDP does not guarantee message delivery

Answer: D

NEW QUESTION 8
Refer to the exhibit.
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Atlantafeant T

Enter CGD:.H;HI&T.}GD comnands cne par line. End with CNTL/E.
Atlanta (config) faaa new-modsl

Atlanta (config) faia anthanticartion login default local
Atlanta (config) #line vty 0 4

Atlanta(config-line)#login authentication default

Atlanta (config-line) fexit

Atlanta (config) fusername ciscoadmin password adminadminll)
Atlanta (config) fusernane ciscoadmin privilege 153

Atlanta (config) fenable password ciscalll

Atlanta (config) fenable sscret testingllld4

Atlanta (config) fand

Which password must an engineer use to enter the enable mode?

A. adminadmin123
B. default

C. testing 1234

D. cisco123

Answer: C

NEW QUESTION 9
Which configuration is needed to generate an RSA key for SSH on a router?

A. Configure the version of SSH
B. Configure VTY access.

C. Create a user with a password.
D. Assign a DNS domain name

Answer: B

NEW QUESTION 10
A Cisco IP phone receive untagged data traffic from an attached PC. Which action is taken by the phone?

A. It allows the traffic to pass through unchanged
B. It drops the traffic

C. It tags the traffic with the default VLAN

D. It tags the traffic with the native VLAN

Answer: C

NEW QUESTION 10
What is a benefit of using a Cisco Wireless LAN Controller?

A. Central AP management requires more complex configurations
B. Unique SSIDs cannot use the same authentication method

C. It supports autonomous and lightweight APs

D. It eliminates the need to configure each access point individually

Answer: D

NEW QUESTION 13
What are two characteristics of a controller-based network? (Choose two)

A. The administrator can make configuration updates from the CLI

B. It uses northbound and southbound APIs to communicate between architectural layers

C. It moves the control plane to a central point.

D. It decentralizes the control plane, which allows each device to make its own forwarding decisions
E. It uses Telnet to report system issues.

Answer: AC

NEW QUESTION 15
Which attribute does a router use to select the best path when two or more different routes to the same destination exist from two different routing protocols.

A. dual algorithm

B. metric

C. administrative distance
D. hop count

Answer: D

NEW QUESTION 16

Which two encoding methods are supported by REST APIs? (Choose two)
A. YAML

B. JSON
C. EBCDIC
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D. SGML
E. XML

Answer: AE

NEW QUESTION 18
Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an EIGRP neighbor. What is the
administrative distance of the route that will be installed in the routing table?

A. 20
B. 90
C. 110
D. 115

Answer: B

NEW QUESTION 22
Refer to the exhibit.

R2#show ip nat translations

Pro Inside global Inside local Outside local  Outside global
tep 172.23.104.3:43268 10.4.4.4:43268 172.23.103.10:23 172.23.103.10:23
tep 172.23.104.4:45507 10.4.4.5:45507 172.23.103.10:80 172.23.103.10:80

An engineer configured NAT translations and has verified that the configuration is correct. Which IP address is the source IP?

A.10.4.4.4
B.10.4.4.5

C. 172.23.103.10
D. 172.23.104.4

Answer: C

NEW QUESTION 26
Refer to the exhibit.

Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (D) 10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length O

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor count is 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)
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The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF

B. A point-to-point network type is configured

C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: A

NEW QUESTION 27
Refer to the exhibit.
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An engineer is bringing up a new circuit to the MPLS provider on the Gi0/1 interface of Routerl The new circuit uses eBGP and teams the route to VLAN25 from
the BGP path What s the expected behavior for the traffic flow for route 10.10.13.0/257?

A. Traffic to 10.10.13.0.25 is load balanced out of multiple interfaces

B. Route 10.10.13.0/25 is updated in the routing table as being learned from interface GiO/1.
C. Traffic to 10.10.13.0/25 is asymmeteical

D. Route 10.10.13.0/25 learned via the GiO/0 interface remains in the routing table

Answer: D

NEW QUESTION 31
Two switches are connected and using Cisco Dynamic Trunking Protocol SW1 is set to Dynamic Desirable What is the result of this configuration?

A. The link is in a down state.

B. The link is in an error disables state
C. The link is becomes an access port.
D. The link becomes a trunk port.

Answer: D

NEW QUESTION 33

A user configured OSPF in a single area between two routers A serial interface connecting R1 and R2 is running encapsulation PPP By default which OSPF
network type is seen on this interface when the user types show ip ospf interface on R1 or R2?

A. port-to-multipoint

B. broadcast

C. point-to-point

D. nonbroadcast

Answer: C

NEW QUESTION 35
A user configured OSPF and advertised the Gigabit Ethernet interface in OSPF By default, which type of OSPF network does this interface belong to?
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A. point-to-multipoint
B. point-to-point

C. broadcast

D. nonbroadcast

Answer: B

NEW QUESTION 36

An organization has decided to start using cloud-provided services. Which cloud service allows the organization to install its own operating system on a virtual
machine?

A. platform-as-a-service
B. software-as-a-service
C. network-as-a-service
D. infrastructure-as-a-service

Answer: D

NEW QUESTION 39
Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.

B. The two routers negotiate one router as the active router and the other as the standby router

C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers
synchronize configurations to provide consistent packet forwarding

D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 44
Which two tasks must be performed to configure NTP to a trusted server in client mode on a single network device? (Choose two)

A. Enable NTP authentication.

B. Verify the time zone.

C. Disable NTP broadcasts

D. Specify the IP address of the NTP server
E. Set the NTP server private key

Answer: DE

NEW QUESTION 47
Refer to the exhibit.

Conhgured routers IPv6 addresses

Se0/0/0 s Atlanta
Atlanta o Serial 0/0/0 20121126
Lo 50121196 L0 Loopback1® 2000:1/128
New York
Senal 0/0/0 - 2012-2/126
Senal 0011 2023 2/126
Loopback2 2000 2/128
! Nashington
SeV/U/0 et Se0/0/1 Senal 0/0/0 - 2023:.3/126
R Loopback3: 2000:3/128
INeW- YOrK
L0Z

The New York router is configured with static routes pointing to the Atlanta and Washington sites. Which two tasks must be performed so that the Serial0/0/0
interfaces on the Atlanta and Washington routers can reach one another? (Choose two.)

A. Configure the ipv6 route 2012::/126 2023::1 command on the Washington router
B. Configure the ipv6 route 2023::/126 2012::1 command on the Atlanta router.

C. Configure the Ipv6 route 2012::/126 s0/0/0 command on the Atlanta router

D. Configure the ipv6 route 2023::/126 2012::2 command on the Atlanta router

E. Configure the ipv6 route 2012::/126 2023::2 command on the Washington router

Answer: CE
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NEW QUESTION 48
Refer to exhibit.

Router (config) #interface GigabitEthernet 1/0/1
Router (config-if) #ip address 192.168.16.143 255.255.255.240
Bad mask /28 for address 192.168.16.143

Which statement explains the configuration error message that is received?

A. It is a broadcast IP address

B. The router does not support /28 mask.
C. It belongs to a private IP address range.
D. IT is a network IP address.

Answer: A

NEW QUESTION 51
Which network allows devices to communicate without the need to access the Internet?

A.1729.0.0/16

B. 172.28.0.0/16

C. 192.0.0.0/8

D. 209.165.201.0/24

Answer: D

NEW QUESTION 52
When a site-to-site VPN is used, which protocol is responsible for the transport of user data?

A. IKEv2
B. IKEv1l
C. IPsec
D. MD5

Answer: C

NEW QUESTION 55
Drag drop the descriptions from the left onto the correct configuration-management technologies on the right.

Pl

-C"'L.'-E :

Pupoet

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 59
R1 has learned route 192.168.12.0/24 via I1S-IS. OSPF, RIP. and Internal EIGRP Under normal operating conditions, which routing protocol is installed in the

routing table?

A. IS-IS

B. RIP

C. Internal EIGRP
D. OSPF

Answer: C

NEW QUESTION 63

Which MAC address is recognized as a VRRP virtual address?
A. 0000.5E00.010a

B. 0005.3711.0975

C. 0000.0C07.AC99

D. 0007.C070/AB0O1

Answer: A

NEW QUESTION 64
Refer to the exhibit.

Fl§ show ip route | begin gateway

Gateway of last resort is 209 .165.200.246 to network 0.0.0.0

5 0.0.0.0/0 [1/0] wia 209 163 .200. 246, Seriald/l/0

is directly connscted, Serislo/fl/0

172.16.0.0/16 is variably subnetted, 3 subnats, 3 masks

172.16.0.0/24 [1/0] wia 207 163 200.230, Sarial0/0/0

172.16.0.128/25% [110/38443) wim 207.16%5.200.254, 00:00:23, Sariald/0/1
172.16.0.15%2/2% [90/3104439] wia 207.165 200.254, 00:00:23%, Serialdf0/1
Z0%.163.200.0/24 Lis variably subnetted, 4 subnets, 2 masks
209165 . 200.248/30 iz directly connected, Serialld/ 070

209 165 .200.245/32 is directly connected, Seriall/0/0

209,163 .200.252/30 is directly connected, Serialld/0/1

209 165 . 200.253/32 1a directly connactad, Sarisldfofl

== ]

HOE N

With which metric was the route to host 172.16.0.202 learned?
A. 110

B. 38443

C. 3184439

Answer: C

NEW QUESTION 69
Drag and drop the WLAN components from the left onto the correct descriptions on the right.
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witual merface

gyname interface

Areess LAN Zontrobier |

A. Mastered
B. Not Mastered

Answer: A

Explanation:
51
1:2
2:4
4:3
35

NEW QUESTION 72
Refer to the Exhibit.
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Swilch 1

P/ (05

Swilch 2

c0/1 AV

VLANS9

S i

P
PC A

VLAN 9

-
=
-

After the switch configuration the ping test fails between PC A and PC B Based on the output for switch 1. which error must be corrected?

A. There is a native VLAN mismatch

B. Access mode is configured on the switch ports.
C. The PCs are m the incorrect VLAN

D. All VLANSs are not enabled on the trunk

Answer: A

NEW QUESTION 76

When configuring a WLAN with WPA2 PSK in the Cisco Wireless LAN Controller GUI, which two formats are available to select? (Choose two)

A. ASCII

B. base64

C. binary

D. decimal

E. hexadecimal

Answer: AE

NEW QUESTION 77
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